UL NIy

1 17'21 -—7L+x-r(a
%gg)'o = 20)“) O+ pl) +
+ 6

l— up
¢ %

ZD o) j(3+ ® ~ ﬂ{cl)nh

B -l

u 4

j\?z-\tlpc —2x?) dx

b

S 31+5b¢/— & Lo
= 3'x+x*"f/4—___Q
5) f: (3+ l+x3- Z,") olx [32.+— xt + '?

M oy 0

el

3)

(% Arctuwwz r0 = bxO %= 2hom

b] M= 12°+ 6P — 2xilxbceal -k

= I+ 36 — (4lcoal -t

NT=58F

AR = 6. BF em

c) Perimader = 6+ 2- % + 6-88 = ]15-3cm

non

2,(»0331 = 3(7‘- 2

[1 .2 2 .
> ,3% 3

1—Q1+18 O
:7C3L—3X1~(n):0 KD or ks

et LaE s e lifoi s el
ar a Sy
Noar=9 = a=2 = 1§
2)sw= el el
i—c “"/z, ‘/;. S

) SA. = %Bocm”
ﬁlk SA =z ich + ir® = 250

= awrh = gso ~7v*

V: T[.Ti'/\- =
:W’(_i_&_@_,_r_) e Sne I.Q‘Sr—‘%i
o 2 w 2
) Sosomary lus ot &L-o.
4. og5- 3 -0 = n5- I
250 = 3’
250 2
T = €
= = [0
310
AV — T
ghE =TI - gy
Wan = B, dy - ~3n’(§1>:'%&5<0
i o™ 3T
d) Musimam V = 125/ (250 —IF?“- 429 em’
3T 2\ J3m
2
@0) 3:Q‘21'/\54 5
Wan b=t, y= 9-2(¢) - & =9-8-1=-0 Qe.
Blwef-ge px A e
ﬁ%:—flﬁ» o (,J‘uzml:{,%=‘2+l3h =
ﬂf{)i'l‘l’])
5v6:177¢ = =2 =6 Q£D
C).stuﬂum =0 +x=0 = O-i—l: ‘—’—)lZQ
Y

d) hea of tiasgle: Ax 5x6 = 126,
ﬁwwm bobwesn Amgi -
J’w@ 31‘27‘/1)41 Cax- 22 -11'1 g

= [fe-xt-alz | (36— ) - u(@)) (a0) -0 - u(s7))]

= ()= =
Aol B = 3 6-—-3%= 45

() +@Y + & ()+ () + %
53) (2@ SEE )]

o
i j't”x+‘#g"2~0
m)wws%wﬁfxw
:L+ ODLJ'l(, =13 =
C‘jx —+ = 42

xiz)—q +g+2)_;é{>
s

b) r={28 =5 QD

) PQ st be o diawwker oo ik is 10,

pQQlMQfD!tLL It \ut{r
Q@=JW—E‘§“=% % =85 (idy)

@‘9 (+ kx)ﬂ |+ n(kx) + r (kx)t+ 'L(n__-a_‘fv\u_&x)z*
pla
= = -
= m& = -’Z(n Qw
= 3 = (rl—i)k_ QD
ke Skl Befugl
T 3 =k -2k
3 =4 -2k
U= Dk=4h, n=
®9 oo(x-2)= -0437 Osa s 360°
Lk Y=2-20 (z=x+ QO) -2< X s 840
C&Ox = -0- 487
= ¥ = o fo4sT) = LG, Qty{f " ey awy

= x = 186, 264

L) Btand = dese@ = =l

oo = 2800 = 3908 = Qcee?d
Uoing sin@+ oot =1 = coa®f = [-sin+8)
3sinb= 2(1-sin*0)
3smd = - Lin®@

0<6 < Qb0
%00+ 39— 2 = O , :
(2sms — 1 s +Q) = 0 L
3|V\/9’ Yo E»vbs =
8+ sin-'(%) i
= B0, 1S0°



